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QUESTION 1

A customer with an Avaya Aura Platform requires survivable remote capabilities at their new branch location. The new
branch location must also support five analog telephones and two TI trunks.

What will address these requirements?

A. Communication Manager and Session Manager on Appliance Virtualization platform with local data switch
B. Communication Manager on Appliance Virtualization platform with local data switch

C. G430 with embedded S8300 with needed media modules

D. G450 with embedded S8300 with needed media modules

Correct Answer: A

QUESTION 2

You are working on a design that includes Avaya Aura Presence Services.
Which statement regarding the Presences Services deployment is true?

A. It always requires one or more dedicated (closed) Avaya Breeze?instances.
B. It does not require dedicated (closed) Avaya Breeze?instances.

C. It requires one or more general purpose (open) Avaya Breeze?instances.
D. It can only be installed on one dedicated (closed) Avaya Breeze?instance.

Correct Answer: B

QUESTION 3
You are designing media gateways at remote locations for a customer. They have requested the following:

Analog telephone calls go through the PSTN in case of power outage. Redundant power supply The same
administrative and telephone functionality during WAN outage

Which design meets these customer requests?
A. A design with G450 gateways with dual power supplies, and Standard Local Survivability
B. A design with G430 gateways with dual power supplies, and Standard Local Survivability

C. A design with G450 gateways with dual power supplies, and S8300 Survivable-Remote
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D. A design with G430 gateways with dual power supply, and S8300 Survivable-Remote

Correct Answer: A

QUESTION 4

Your customer is asking about the Multiple Appearance Directory Number (MADN) feature that has been added in
support of CS1000 migrations. It includes Single Call Appearance/Arrangement (SCA) which works like Communication
Manager bridging, and multiple Call Appearance/Arrange (MCA) which works like bridging on the CS1000.

Which statement about MCA is true?

A. It is only available on Avaya Equinoxclients.

B. It is only available on Device Adapted sets.

C. Itis tied to a particular call appearance on the primary endpoint.

D. It makes all calls private.

Correct Answer: D

QUESTION 5
You are putting together a proposal for a Communication Manager solution that has the following

requirements: 300 9611G telephones running H.323 275 9641GS telephones running SIP 75 Analog telephones 350
3129 telephones 100 Avaya EquinoxTM clients

300 9611G telephones running H.323 275 9641GS telephones running SIP 75 Analog telephones 350 J129 telephones
100 Avaya EquinoxTM clients How many endpoints will directly register/connect to Communication Manager?

A. 375
B. 400
C. 625
D. 1025

Correct Answer: A

QUESTION 6

In an Avaya Aura 8.1 deployment, where do Remote SIP Workers ultimately register?
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A. Session Manager

B. Communication Manager
C. Avaya Device Adapter

D. System Manager

Correct Answer: C

QUESTION 7

While working on a proposal that includes Avaya IX messaging you are comparing required features and licensing.
Which Avaya IX Messaging feature requires an additional license?

A. Text to Speech (TTS)

B. Single sign on (SSO)

C. Sync with Office 365 and Google emails
D. Additional non-Avaya PBX integrations

Correct Answer: A

QUESTION 8
A customer has a branch location with the following requirements:

24 H.323 Endpoints 30 SIP Endpoints 1 DS-1 for PSTN trunking 15 Analog Ports Survivability for all endpoints in event
of WAN fail

What is the least cost gateway solution that meets all of these requirements?
A. G450 Media Gateway with S8300

B. G450 Media Gateway

C. G430 Media Gateway

D. G430 Media Gateway with S8300

Correct Answer: C

QUESTION 9
Which change was made to EC500, to provide CS1000 Mobile-X like feature experience?

A. You can now put the call on hold before dialing a feature access code.
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B. You can now dial a feature access code without putting the call on hold.
C. You can now enter a feature access code before receiving a call.
D. You must now enter feature access codes before you put a call on hold.

Correct Answer: A

QUESTION 10

You are recommending the WAN link requirement per branch for a multi-location customer. The customer estimates the
branch Inter-office communication use rate over the WAN to be one trunk per 20 branch users, and there are 460 users
at each branch. You assume that after all header compressions have been applied, there is a 30% protocol overhead,
and the G.729 codec being used provides 7.2 kbps.

How much bandwidth is needed for voice traffic on the WAN link for each branch?

A. 187.2 Kbps

B. 115.9 Kbps

C. 165.6 Kbps

D. 215.3 Kbps

Correct Answer: B
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